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PHYSICAL EDUCATION
Paper III

IR forer
gyurent 111

Time Allowed : 2% Hours]
Note : This Question Paper contains Seventy Five (75) multiple choice questions,

[Maximum Marks : 150

each question carries Two (2) marks. Attempt All questions.

U SRd. @E U Wi

GOl : A YA THY UeewX (75) dguae Ued foel ofed. Ui TR | (2)

Which of the following is the best
activity to increase muscular

endurance ?

(A) Resistance training using high
repetitions and light weight

(B) Resistance training using low

repetitions and heavy weight
(C) Isotonic resistance training
(D) Plyometric resistance training

If learning in situation ‘A’ has a
detrimental effect on learning in

situation ‘B’, then we have :
(A) Positive transfer

(B) Negative transfer

(C) Zero transfer

(D) Bilateral transfer

TR Y SHGRUTT STl Haiid
IYYHR IUhH RO ?

(A) ®H a9q F dfesd AradATd
gfade wferero

(B) s1ferss 999 9 w1 STad AT

EIRRE IR
(C) @RI Tfale iereo
(D) wmEdfees gfadg wfkrer
‘o1 uftfeudier stezEmEn ‘o afitferdia
sreAER faudid 9o e, § 318
.

(A) 7 G0
(B) & HHAU
(C) I HehH
(D) fgweftar Hshmor
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A student is most likely to be self-

motivated and participates in life

long activities when the student :

(A) Participates in physical activities

several times a week at school

(B) Understands the effects of

physical activity versus non-

activity

(C) Knows the rules and

understands a wide variety of

team sports

(D) Possesses the knowledge, skills

and attitude to lead a healthy

lifestyle
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TER fomndt WU e ST TRiReh
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Which type of learning experiments
shows how the behaviour of animals
can be controlled or shaped in a
desired direction by making a

careful use of reinforcement ?
(A) Classical conditioning
(B) Operant conditioning

(C) Latent learning

(D) Sign learning

Sideways bending of trunk is an

example of movement in :

(A) Frontal plane and sagittal
axis

(B) Sagittal plane and sagittal
axis

(C) Frontal plane and transverse
axis

(D) Sagittal plane and vertical

axis

4.
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HIUTCAT AT YA HIedS qeh
FeIATE AR, JToFr=al o] STafard
feem fesm 9 9@ quArEEl el
ST ?

(A) srfvgfea stiumem

(B) oo eifumem

(C) 33Uk AT

(D) grehfaes 794

S WIS[ell dThidul, &AM oA

NREIRIE ARG

(A) Wed Ydd o dfsed e
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(B) dfSedl gda 9 dfsied 3187

(C) Wed Uad 9 IrHaH 378

e

(D) dfSied ydaa 9 dafdera 18
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The inertia of an object tends to

cause the object :
(A) To increase its speed
(B) To decrease its speed

(C) To resist any change in its state

of motion
(D) To decelerate due to friction
Kinetics is the study of :

(1) Impulse

(2) Velocity

(3) Force

(4) Acceleration

Find the correct combination.

(A) (1) and (2)

(B) (2) and (3)

(C) (2) and (4)

(D) (1) and (3)

MAY - 71316/I11—B
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(A) o defauard

(B) o wHH HITAH

(C) Tfw feerdfia agamen folig 301

(D) wSUMes o7 AT 0l
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10.

An athlete runs some distance

before taking a long jump

because :

(A) He gains energy to take him
through long distance

(B) It helps to apply large force

(C) By running, the reaction force

increases

(D) By running, the athlete gives

himself larger inertia of motion

When a net force acts on an object,
the object will be accelerated in the

direction of :

(A) The force on the object
(B) The velocity of the object
(C) The mass of the objects
(D) The inertia of the objects

Identify the spin in a ball moving

high and slow after rebound :
(A) Left spin

(B) Top spin

(C) Right spin

(D) Back spin

10.
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e IS Woalg, FE! SR Ged IS
dl, RO :

(A) 2R e ST SHTIUIEIS! ST 3Tt
Taasferar

(B) Afyer o1 Ao Hed

(C) wrEcaes fidfshan de dred

(D) 9O ©Re @d:ell 3Tfeeh

A STed 9T hied Sdl

Sigl WUl 9@ TERAl URIdieR e
FHd degl d gered A feve oRfva e

(A) TETUfay T HIM=IAT FATA]

feem

(B) UcTeNaY T HIO=AT ATT=AT

fezm
(C) TRTgr=a a&AET fewgH

(D) werer=A Sewer= favn
TieHa U1 B d 39 AUTAl SgHE

AR Rt 319d
(A) el fireht

(B) 2f iRt

(C) 3t fireht

(D) o fint
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11. Which of the following statements

11. @refadent v faum ferdesn @
best describes the principle of

stability ? A FO B 2

(A) The higher the centre of gravity
(A) TSIqeRT 9Ty STUHE TewerHed

to the base of support, the

greater the stability 39, fadent feeran s

(B) The nearer the centre of gravity
(B) fSIqept 9r@yd STER=AT S

to the edges of the base of

support, the greater the TewaHed, fadeh! feerar S

stability
(C) TSIt qremya omeR ewe, faaeht

(C) The narrower the base of

support, the more stable the et S

body
(D) St armyd emur %%, fadeet

(D) The wider the base of support,

the more stable the body feeran <




12.

13.

In order to prevent heat loss before
performing in cold weather, a team
sticks or remains close with each
other to share body heat. This could
best be described as heat gain

via :
(A) Conduction
(B) Radiation

(C) Evaporation
(D) Convection

Read and analyse the following

statements :
Statement (1) :

Water is the electron donor for non-

cyclic photophosphorylation.
Statement (2) :

Both ATP and NADPH, are
synthesized during cyclic photo-
phosphorylation.

Find the correct combination :
Codes :

(A) Both (1) and (2) are correct
(B) Both (1) and (2) are wrong
(C) (1) is correct but (2) is wrong

(D) (1) is wrong but (2) is correct

12.

13.
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U TATHMTHES HIATHMISTEN ISUr=
TE AAGUIEE GO Wlelg, Hal
Al 0T fere[d SIUAEST Weh-

HehRTSTaes adTd. AT SISOl UTiel 379
R S

(A) ==

(B) faferzor

(C) arsdiver

(D) 9shHT

feetet faem e favamo a0
faem (1) -

AT HIRIBIERINRTAES qI0 - &
forgd ORATIET QI 3T

hXUT (2) :

THE BRIGERRTH S0 Sl T
A, 7 AR, 3 Fedrm 2

qiY Tehieheu (ITR) T :

i

(A) S (1) enfor (2) ek MR
(B) BT (1) o1 (2) Feia oTRd

(C) (1) 3g=® e, YU (2) Tehid
3T

(D) (1) |% AR, T (2) AgH
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[P.T.O.



14. Match List I with List IT and select

the correct answer from the codes

given below :
List 1

(z) Krebs Cycle
(z1) Synthesis of ATP
(zi1) Glycolysis
(tv) Light reaction

List II
(p) Cytoplasm
(@) Grana
(r) Fy-F, particle
(s) Mitochondrial matrix

Codes :

@ @ @) ()
@A s 0 @ (@
B @ @ 6
© @ @ 6 O

D) ) @ @ (@)
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14. I 19 At 11 Seeed Ard 94 @t

feeiean Hehdremyd feren .
EICU |

() heH HEHA

(i) T fAfdd

((ii) TATIRITANTH

(iv) TeRTM= ke
Tt 11

(p) Ui

(@) um

(r) Thy-TH, F

(s) WSR-S g

Hehdich :
@ @) @) Gv)

A ) n @ (@

B ©» @ @ 6

© @ @ ) @

D) ) ) @ (@
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15. Number of Oy molecules required for | 15 sfiferas wfed TaETHE TehIsT TH
the oxidation of one molecule of T e @ 5
glucose during aerobic respiration . .
FifferasTT=i Y= He
is :
(A) 2
(A) 2
(B) 4
®) 4 :
(C) 6 (C) 6
(D) 8 (D) 8
16. In a normal Cardiac cycle : 16. Tl HHMA BIAhId
(A) Right atrium systole precedes (A) == wiviehen o (eg=)
left atrium systole e Ieqr wfvidw=r faeeid
(B) Right ventricular ejection wl
precedes left ventricular ejection (B) 1A SAffeRl TR Scaiqo STl
in expiration STeIfehT SeaTqUSET /id
(C) Pulmonary value closes before (C) AHESTR AT g TSt Bee
aortic valve in expiration SERICEI
(D) Left ventricle ejection starts (D) STe SEfehdle Seardor Sse
after right ventricular ejection B &
11 [P.T.O.



17.

18.

During exercise the local metabolic

control is most important in

determining flow of blood to :

(A) Skin

(B) Lung

(C) Kidney

(D) Skeletal muscle

The condition which must draw first

aider’s immediate attention on

seeing the casualty is :

(A) Swelling of the limb

(B) Severe bleeding

(C) Shivering

(D) Fracture

17.

18.
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SHATHIGTRI , T =ara=d @ =1
fashToren Waware fHfved wvame ©
tl%r_on% ITA :

(A) <=

(B) ®"RH

(C) At

(D) WFTEI™ H\g

S|l SFadiel dTedietvil, FHiTer

IUT-ATH dchTes @&l A1 feerdisse

I

(A) STEA S AW
(B) 3l ToRETE
(C) HEHSI

(D) sfeesq
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19. One trait that dominates a | 19. TER =K & &, N HaleR GG
personality so much that influences HURT AfRAEE Toh T[S @l
nearly everything a person does is AR .

a:

(A) wTfaeh ToTferre
(A) Global Triat

(B) H&A oIS
(B) Cardinal Triat

(C) weAad! T[urfors
(C) Central Triat

D) faferse oo™
(D) Specific Triat @)

20. In an opening ceremony of a 20. shiereas=a ITEEATTE M w1 foehTofl
Sporting Event where salute is to G A AT 18, il geie
be given by the teams arrange the A AFT HH el
following items in order : N -

(1) Hem= ThhI0
(1) Assembly of Teams .
(2) HEARERTREA i
(2) Oath taking by Captain
(3) Hu HaeH
(3) March Past by Teams
(4) Flag Hoisting (4) @<l 5
The correct sequence of the above A gET g SANER| T T :
events shall be : (A 1) (2 3) a ()
A 1) @2) 3) and 4)
B @® & @ T 2
B) 1 B @) and (2)
o L @ & T3 @
€ 1 @ @G and (2)
MO G @ 3 @
M) 1) B) (2) and 4)
13 [P.T.O.



21. Week Sets Repetitions Load Rest
kg) (s
1 2 10 60 40
2 3 12 65 35
3 4 14 70 30

22.

Which of the following training
principle is best illustrated in the

above program ?

(A) Specificity

(B) Reversibility

(C) Adaptability

(D) Overload

Which of the following factors should

be considered while preparing

interval training program ?
(D
2)
3)
4)

Intensity of training interval
Duration of recovery interval
Repetition of load
Progression of each training
Select the correct option :

(A) (1), (2) and (3) only

(B) (1), (2) and (4) only

(C) (1), (3) and (4) only

(D) (2), (3) and (4) only

21.

22.

MAY - 71316/I1I—B
IMBIST T A T fasmedt

kg) (s
1 2 10 60 40
2 3 12 65 35
3 4 14 70 30

I foAe gfTer shishy shivTea uivreror
TR AR A8 ?

(A) Tafersean
(B) WfarTH=dn

(C) Tgeherdn
(D) 3IHYIR

el URTRTOT AT qEIeTieh! shivre

Feehial foemR waa ?

(1) wineor A= o
(2) fagmd=n w1

(3) YR A&

(4) T RTETOd FTaeitetdr
I I e

(A) & (1), (2) 0 (3)
(B) ®e (1), (2) =7f01 (4)
(C) ®e (1), (3) 0T (4)
(D) ®H (2), (3) W01 (4)

14



23.

24.

When dribbling a soccer ball in a
restricted space, the player should
attempt to do all of the following,

except :
(A) Keep the ball close to the feet

(B) Stay in a slightly crouched
position

(C) Use body feints and changes of

speed

(D)

Use only the dominant foot for

better control

Which of the following is not the

objective of intramurals ?

(A) A game for each and each for

the game

(B) Spotting of local talent

(C) Event Management experience

(D) Selection of Institute Team

23.

24.

MAY - 71316/I11—B

FH SHd Heald fgad HLdM g |

Td FI :

(A) dfel drETSiees 3ol

(B) i€ qg amehciedn feerdia T@ol

(C) YRR FASET <3 A s
Exull

(D) =TTed EAvmEE Seshe g
I HT0

JEcTuch! IV STdiehal ¥ae 3fese

TE 2

(A) TARTEES Ted 3TV WesHTat Teish

K&l
(B) i WSRIY
(C) gl FESHmRT TvE

(D) == wurEl o

15
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25.

26.

The highest percentage of gas
available in the exhaled air is :

(A) Carbon dioxide

(B) Oxygen

(C) Nitrogen

(D) Hydrogen

Match List I with List IT and select

the correct answer from the codes

given below :
List I
(z) Hockey
(i1) Football
(111) Tennis
(tv) Cricket
List II
(1) Ranji Trophy
(2) Agakhan Cup
(3) Subroto Cup
(4) Davis Cup

Codes :

@ @ @) ()
Aa 2 & @ @
B @ & @ @
< 3 1 @ @
O D1 @ @ O

25.

26.

MAY - 71316/I11—B

frvarq gadiar Tdifees JATTG STHUMR
Y WS

(A) HEA SRS

(B) 91 9y
(C) e
(D) BTEEISH
AT 19 IRt 11 Sesed Ard 94 @reft
feeiean Heharemyd faren .
EICU |
(@) et
(i) HeaTA
(i) <=
Gv) forehe
et 11

(1) ot 2t
(2) SMEM &Y
(3) ol Y
(4) <fow =u
Hehdieh :

G G) Gi) G
A 2 6 @ @
B @ & @ @
< 3 O @ @
O L @ @ 6
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27. Chronic injuries are treated by : | 27. TIEehGiM @Il YR I AW :
(A) Infrared (A) THRE
(B) Ultratherapy (B) 3TegIoRdt
(C) Ultrasonic (C) Aee™I®
(D) Ultraviolet (D) At
28. Which of the following are the | 9g we=Tg =Y 3™ qelerient o
benefits of having strong skeletal
WES A ?
muscle ?
(1) Protecting the joints (1) e e
(2) Maintaining  appropriate (2) IA IRRYROT HE0
posture
(3) “BfUfyELo THERYON Srefal
(3) Enhancing cardiorespiratory
endurance @ ¥
(4) Improving sports performance o g9t faer
Select the correct option : (A) T (1), (2) AT (3)
(A) (1), (2) and (3) only
(B) ®H (1), (2) 70T (4)
(B) (1), (2) and (4) only
(C) ®H (1), (3) 70T (4)
(C) (1), (3) and (4) only
D) (1), (2), (3) and (4) D) (1), (2), (3) 70T (4)
17 [P.T.O.



29.

30.

Pre-trainings and post-trainings data
are collected from two groups under
study. Which statistics is to be used

to see the effect of training ?

(A) ¢ test

(B) ANOVA

(C) ANCOVA

(D) z-test

Fifteen players of a cricket team
want to shake hand with each other.
The number of shake hands will

be :

(A) 105

(B) 104

(C) 14

(D) 15

29.

30.

MAY - 71316/I11—B

AT SIF T FTeTorgd & qe=ma

Hifgdt Tehfad Sholad

3] WiRTeTuT=n

IO qUTEUITETST hIvdl Gifedeh]

ARA  ?

(A) ‘I wEE
(B) eiregt
(C) iehreRl

(D) z-HEr

fhehe TEIda TeRT Weole AT UehHehiei

B Hesaa= ofed. TR Ba fHasferoft

T I
(A) 105
(B) 104
(C) 14

D) 15

18



31. The objectives of supervision

and control in physical education

is :

(1) To improve the working of

individuals

(2) To evaluate the achievements

(3) To check the quality of work

(4) To find faults and complain to

higher authorities

The correct code combination is :

Codes :

A) (1) (2) and (3)

B) 1) B and @)

C) 2 B and @)

D) 1) 2) and @)

MAY - 71316/I11—B

31. I fereroma wedaderor g o

BN

(1) STeKit=a A GERom

(2) HIRA™ HEIHH 0l

(3) A TSR qUTHII

(4) [ g IS HOO

ATT TehIhI Hehdish & 378 :

- K3
-
.

A 1)

B) 1)

©) @)

D) D)

2)

3)

3)

2)

3)

(4)

(4)

(4)

19
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32. Which of the following is not a

33.

criterion of a profession ?

(A) Performance of service to
public

(B) Collaboration with

international organisation

(C) Based upon scientific

knowledge

(D) Highly specialised and formal

preparation

From the following identify the
one which is not included in
the structure of Basic Sport

Management ?

(A) Tournaments

(B) Sport Scholarships
(C) Teams

(D) Clubs

32. YE@URT HIUIAT SHTHTATH]

33.

MAY - 71316/I11—B

~

TR

R ?

(A) SR HEd

(B) STAQUSET TR H&dm

(C) IMEHT FAER e

D) 3ifa fagm & fiu=nien Tar

T3 hiel HASH= T@a AT I

e ?
(A) Tgui

(B) whiel fyrsamit
(C) g

(D) &I

20



34. Given below are two statements

one of which is labelled as
Assertion (A) and the other is
labelled as Reason (R) :

Assertion (A) :

As the sports has evolved into a
complex multibillion-dollar global
entity, law has played a more
dominant role in carrying out
management functions in sports

organizations.
Reason (R) :

When sports managers make
decisions, disagreements arise, those
working and participating in sports
are relying more heavily on the legal

system for a resolution.

Select the correct answer by using

the codes given below :
Codes :

(A) Both (A) and (R) are true but
(R) is the

explanation of (A)

not correct

(B) Both (A) and (R) are true

(C) (A) is false but (R) is true

(D) (A) is true but (R) is false

MAY - 71316/I11—B

34. fooion TF I T 9™ (A) a

T HRO (R) &R
faam= (A)
el TeeAr=A E SHEHe SN

UM YfHeRT SISTeea SR hisl o €

Bl 3Tk 3TeS STcTEdl SRR Feell T
forenfaa el TR,
T (R)

el Haageh o Bdrd, wadg faro
B, ST bl I THewarEel wie
Tt Higa yHTER  faefEwdE
SR BT

arell feded Sahdreqd and 93
IREEIE

i
(A) (A) & (R) T8 9 3T T (R)
T (A) 9 I TSRO @I

(B) (A) 9 (R) Tl 9 Teq

(C) (A) B 6™ 3T (R) B ¥A
3Tmed

(D) (A) T §F 31, W (R) T A
3eq
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35.

36.

Which of the following is against the

Principles of Organisation ?

(A) Proper decentralization

(B) Delegation of Power

(C) Overlapping

(D) Proper communication

The philosophy which emphasizes

the mind as central to
understanding and reasoning and
plays a critical role in arriving at

the truth is :

(A) Idealism

(B) Pragmatism

(C) Realism

(D) Naturalism

35.

36.

MAY - 71316/I11—B

JEICTUsh! TRIVT HATSHIAT dam= faes
e ?

(A) @ foshgint

(B) stfersh Higemt

(C) afeAra

(D) T Helg

T oI WA SAHES | § 3Tehet

T qoh HLOAES gl A S o

T MYAHE g YfHeht sisred, d
g 3ME :

(A) ITeEfaT

(B) SHASRRAIG

(C) arEder

(D) TrrrErE
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37. The Commissioners of Indian | 37. TErM R &M (fhehe) = 3T ©
Premier League (cricket) were : o :
(2) Rajiv Shukla 2) T gl
(3) Sunil Gavaskar 3) 2
(4) Jagmohan Dalmia - -
(4) STHEET QICIHAT
The correct code combination R Do
' T Tehiehl0l Hehdish & 278 :
is :
Hehdiah :
Codes :
2) o
A) (1), 2) and (3) A) (1), (2) 3)
(©) (1), ) and (&) (©) @), @ s @
(D) (1), (3) and (4) (D) (1), (3) 37fOT (4)
38. Which is the correct combination of | 38. SEfH=" UgHEME, 9 HUEn TN
‘Cards’ used in Badminton ‘FTE! A ?
officiating by the umpire ?
(A) hledl a fudes
(A) Black and Yellow
(B) fueiest 9 e
(B) Yellow and Red
(C) Red and Green (C) =@ = fewan
(D) Yellow and Green (D) Tyoesr a fetan
23 [P.T.O.



39.

40.

While judging off-side in Football,

the refree should not consider

whether :

(A) The head of the player is ahead

of the second last defender

(B) The hand of the player is ahead

of the second last defender

(C) The leg of the player is ahead

of the second last defender

(D) The torso of the player is ahead

of the second last defender

The PE teacher supervises as
students experiment with different
start positions for a forward roll. This

style of teaching is known as :
(A) Command

(B) Convergent discovery

(C) Reciprocal

(D) Practice

39.

40.

MAY - 71316/I11—B

Feald A=A Ui Sam Sih-aee-

Y g9+ 7 fommd 9% 9

(A) e THAT FAITAT Ge STHAT
Ve S STE

(B) e HA TAITEAT S STHHT
Yoolgd B IO

(C) e TEHA ST Y& SHH
Ceolgd U STHU

(D) Vg TH=N SR Te ST
Ceolgd e THU

forneft wRaS—erea fafay sy feerd=

TN I STEA, IR fraror fress

BT qATAETOT Il AT STATITRICATA T

U

(A) BhH

(B) harfermdl e

(C) ==

(D) &=
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41.

42.

Number of teams in the lower half
when odd number of teams
participate is calculated using which

formula ?
@ S
2

N+1
2

(B)

N-1

(C) >

D)E+l
( 2

Which method is used to teach mass
Surya Namaskar to elementary

students ?

(A) Part method

(B) Imitation method

(C) Whole part whole method

(D) Oral method

41.

42.

MAY - 71316/I11—B

o~

foom T G SHaET wEHH Ui

(al

shdld

W= YT A1 =] T QST
A HIA ?

A -1
@ 3

N+1
2

(B)

N-1
2

(C)

DE+1
D) 3

Hafes faeneata wrgiaes PETIERR
forerfadar & steaTaaugerdt aTe!
S

(A) ¥MT 9gd
(B) STIHUT Ugd
(C) qUi-9F-99 9ga

(D) Hifesr ggd
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43.

44.

Stress is :

(A) Advantageous to the player

(B) Both advantageous and

detrimental as per the situation

(C) Detrimental to his abilities

(D) Neither detrimental nor

advantageous as per the

situation

Who said, “I think therefore I

am” ?

(A) Descartes

(B) Plato

(C) Aristotle

(D) Rousseau

MAY - 71316/I11—B

43. dol ®

(A) Tolgell HEGYIR 3TEdl

(B) dftfesrdiqar =81 ®ERYMR 4

SEIEEIRE)

(C) =1 AT STIIhh

(D) afifeerdiganr wERIAT fHRan

IR Tal

44, ‘= foaR dl, wUA AY Ak o1

Y IV W M ?

(A) fe=rrdm

(B) =il

(C) R=fea

(D) &4

26
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45. The rate of progress in learning | 45  stezgAwdie W= <X Heradl o feerdten
slows down and reaches a limit I TEd H IR GEURI e
beyond which futher improvement e
seems impossible is :

(A) Y3RIEEA
(A) Plateau
(B) sTare R ol
(B) Loss of interest
(C) Boredom ©
(D) Difficult stage (D) SEEE ST

46. The sequence of strokes to be | 46. SICIRUI SieRTeh foeet SeftHes Tiehs
followed in swimming an individual HHARI STEl st
medley event should be : (1) TR B
(1) Butterfly stroke .

d (2) &% Wik

(2) Back stroke

(3) IR Eih
(3) Breast stroke

(4) W WEd
(4) Free style

AT WehIh0 Hehdleh :
The correct code combintaion is : S ¢ o
Codes : F :
Aa o @ 3 @ Aa GO @ 6 @
B2 & @ @ B) 2 B3 @ @
<€ 3 O @ (2) © 3 1 @ (2)
D) 4 @) (@) 3) D @ @2 @ 3)

27 [P.T.O.



47.

48.

Knowledge and theories in the

sociology of sport enables us to :

(A) Discover ultimate truths about

the role of sports in society

(B) View sports from multiple

perspectives

(C) Predict how athletes and teams

will perform under pressure

(D) Eliminate the causes of serious

injuries in sports

“Student participates in an aerobics
class to the rhythm of 120 bpm.”
The above example of student

objective does not include :
(A) Behaviour
(B) Condition
(C) Criterion

(D) Aim

47.

48.

MAY - 71316/I11—B

Shie] FHSRIST=A IH 9 [Hgr=es §
S N o

(A) FHST shie=A = sfan

=T Y

(B) HIShe TRUWN 3k gfeehH

(C) qUMETETel Teg d 99 &y &

Hiald I 9Tehid

(D) wieda TR gemadr=t SR I

Eu|

et 120 & T, =1 dreTeR Wit

FAEHE WY Bl

IO STeagd SfEemed Sy GHE
ARl ?

(A) T
(B) ufifeerdt
(C) Trw

(D) 29

28
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49. In which of the following activities | 49. TYEaTUehl v IyhHa faenel wwy-
will a student work on his gross FEH IR STAT Hid 2
motor skills ? m e e

(A) =feftsirer fEm
(A) Tossing a Volleyball
B) 51 F=n
(B) Climbing stairs
, (C) =waIrsit
(C) Shooting
(D) Putting a Golf ball (D) e =g 7L B

50. Make the correct choice from | 20- feeiesll I AFRIIdiel T faem (A) e
Assertion (A) and the Reason (R) 9 Th &R0 (R) 3ME :
given below : e (A) -

Assertion (A) :
Tl AT TTER O WU AL
Planning is the thinking before
doing. Ul (R) :
Reason (R) : ST US| G et fown Areul.
Planning is laying down the Tt faden i T wHi
projected course of action. fraer
Select the correct statement from the e
. . Hehdieh :
codes given below :
Codes : (A) Tl (A) 9 (R) ¥cF 3Ted 9 (R)
(A) Both (A) and (R) are true and T (@A) T AT T S
(R) is the correct explanation (B) T (A) d (R) SRR 3Ted, 90
of (A) (R) ® (A) ¥ THI™ TIEHI 3R
(B) Both (A) and (R) are true but .
(R) is not the correct (©) (A) & F M, g (R) & A
explanation of (A) e
(C) (A) is true but (R) is false (D) (A) T A 3T, W (R) § 9A
(D) (A) is false but (R) is true e
29 [P.T.O.



51. Arrange first day order of events in

men decathlon with the help of codes

given below :

@) 400 mts run
(z1) Long jump
(ii) High jump
(fv) 100 mts run
(v) 1500 mts run
(vi) Shot put
(vit) Javelin Throw
(viti) Pole Vault
(ix) 100 mts hurdles

(x) Discus throw

Codes :

A) @) @ W) @ @
B) @ @ @) @ o)
(C) i) (viti) (@) Gv) (ix)
D) @ () i) x) @)

MAY - 71316/I11—B

51. gew=al femyart wensia qafgan

oo

feg@i=an aTei=l %A @l feaen

Hehdrhlqd Arg e e .

G) 400 H rero
(i) <@ 3
(i) 39 3T
(iv) 100 H el
(v) 1500 Hi #rEo
(i) sl Thek
(vii) Tl e
(viii) 9 Rl
100 ¥ S
(x) ol %

- -
-
-

(ix)

A @ @ W) @ @

B) © @ @ @ o

(C) (i) (i) @) (v) (@x)

D) ) W) (i)

(ix) (1)
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52. Which of the following is called a

53.

pressure manipulation ?

(A) Stroking

(B) Clapping

(C) Kneading

(D) Pounding

A stopwatch measures time. This is

an example of :

(A) Face validity

(B) Predictive validity

(C) Content validity

(D) Concurrent validity

52.

53.

MAY - 71316/I11—B

qeleTdeh! U¥R HTZR™ (STd) et

R

(A) iR

(B) AT

(C) ifem

(D) TTHfeT

WIMafagR Ha< A9 Bd. 3 g

3SR TR

(A) Hifges e

(B) WA (ETS) S

(C) ST ey

(D) THEHAE=SE! e
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54.

55.

The maximum quantity of this
nutrient in the diet of small children

should be :

(A) Protein

(B) Carbohydrate

(C) Minerals

(D) Vitamins

A long distance runner finds it
difficult to maintain pace after the
third quarter of the run. Identify the
most appropriate test to measure his
cardiorespiratory endurance from

the following :

(A) Cooper 12-min Run walk test

(B) Harvard step test

(C) Multistage run (20 m) test

(D) 1 mile run test

54.

55.

MAY - 71316/I11—B

TEA [ATSAT ATBRIA B A-TEIEH

Haifereh JHOG e
(A) oA

(B) fusema uered

(C) @ffst

(D) e g

C{'\Ibf“lt’ﬁ’ml'c"dll Tehl MU H ST UI=Al

fao=n 9rTEaR T S STaEE S
T BERITER0T SHGRYO HISToaTdTat

I HER! AT ST

(A) HR 12 TH. Geo-=reo s

(B) B@e VY HAE]

(C) Afee=s @ (20 W) wHIRT

(D) 1 T e HEE
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56. Which one of the following pairs is

not correctly matched ?

(A)

(B)

(C)

(D)

An indepth — Case Study

study of one

or more individuals

Observation = — Observation
of Behaviour Methods
Assessing — Correlation
degree of Methods
relationship

between two or
more variables
Study of cause — Survey
Methods

and effect

relation

MAY - 71316/I11—B

T ?

(A) T fohar 3 —

el T

SIESIN

(B) =< fdteron

(C) <M fopan sifers —

SERICRENEL

(D) TR

56. TEIcTUeh! Il SIISrEl S[eedvil A

AT

Triteroragt

T

SIEIE

T &TUTIG
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57. Given below are two statements one

labelled as Assertion (A) and the
other labelled as Reason (R) :

Assertion (A) : of

literature should

Review

be referred for
interpretation of

results of a study.

Reason (R) : Review of lite-
rature provides
the knowledge
base of a research

study.

In the context of the above two
statements, which one of the

following code is correct ?
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but
(R) the
explanation of (A)

is not correct

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

57.

MAY - 71316/I11—B

o

feetea S dedId T fasm (A) 318

g Th &R (R) 7%

faam™ (A) : FyNeAr=a fAseuf=a
sTeifeiera qa Hifecaren
geol Sde Sl

gefaifecarges eitem
AT AT HgTf=eh

3MYR THesl.

R0l (R) :

= qet faamr= wevid @ret e
ARG hI0l A TAT ST 2

- -
.
.

(A) T (A) 9 (R) ¥F 214, 9 (R)

T (A) 3 foTgs T oTR

(B) =1 (A) @ (R) s{IsX 37&d, q0
(R) T (A) 3 T g Tretenor ATt

(C) (A) T 9 2T, 90 (R) ® 19HA
3T

(D) (A) ¥ ¥ 278, 901 (R) § 9HA
3T
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58. Match List I with List IT and select | 58. @Rl I 9 A&T 1T Seoed AT TA™ @reit
the correct answer from the codes feerea gq?,qiqﬂqq\:[ ECEIR
given below : S

List I
(@) T
(z) Obesity
(i) eftan
(z1) Linearity
(t12) SATIIHTOT
(z11)) Muscularity
(iv) Aafeehdl
(tv) Flexibility
et 11
List II
(1) fheimfwT
(1) Mesomorphy
(2) TME®H
(2) Endomorphy
| (3) TS
(3) Goniometry
(4) Ectomorphy @
Codes : Aerdieh
@) G Gi)  Gv) @ @) G@i) Gv)
a2 @ O 6 @ @ @ @ 6
B @ Q) O (2) B) 4 @O O (2)
© @ B @ 4) © 1 3 @ 4)
M B @2 @ @ M) B 2 @ (1)

35

[P.T.O.



MAY - 71316/I11—B

59. Match List I with List IT and select | 59. 4t I 9 9t 11 e3ad and qatd @ett

the correct answer from the codes feeiean Heharemegd faren .
given below : 5 1
List I
G) &9 feh wdRl
(z) Bass Stick Test
Gi) a9

(z1) Burpee Test o

(jii) Hhad HEARI

(zi1) Mcloy Test

(v) TosisTg wHEE
(tv) Bridge-up Test
it 11
List II
(1) wdfaehdn

(1) Flexibility

. . (2) UHF FHeraTavin
(2) Cognitive aptitude

(3) Agility @) TefgET
(4) Balance (4) e
(5) Strength (5) ks
Codes : Hehelih :

@ G Gii) (o) @ G) G Go)
A @) B (b) (1) A 4 Q) (’) (1)
B) B @ (2 5) B G @ @ %)
< @ 3 b) (2) <€ @ B 6 (2)
D) B G 2 @ M) B3) B 2 (4

36



60.

61.

Motor Educability is generally

defined as :

(A) Proficiency in a particular

sport

(B) High level motor fitness

(C) Ability to perform motor

movements

(D) Ability to learn different motor

skills quickly and easily

Normal probability curve is known

as :

(A) Leptokurtic curve

(B) Platykurtic curve

(C) Mesokurtic curve

(D) Positive skewness curve

MAY - 71316/I11—B

60. 9T R STEIARIAdE] A

61.

M hedl S

(A) TEA el YRR Fgur

(B) 3= Udesdl ek gqedl

(C) &R BT HIOIE AT

(D) fafay wRE HRCT TES 9 Foig

IEIEAD IR

THH 9T 9/ 319 WU

(A) IR FomeRyse

dsh

(B) HUe TIerRyss =ik

(C) THael f¥reryss o

(D) u[ fouHda 9%
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62. Given below are two statements one

labelled as Assertion (A) and the
other labelled as Reason (R) :

Assertion (A) :

Recommendation
of a study should
indicate only the
scope of future
research and not
the scope of
practical
applications.

Reason (R) :
Recommendation
of a study
the
future wuse of
knowledge

indicates

obtained from a
study

In the context of the above two
statements, which one of the
following code is correct ?

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

(B) Both (A) and (R) are true but
(R) is not the correct
explanation of (A)

(C) (A) is false but (R) is true
(D) (A) is true but (R) is false

MAY - 71316/I11—B

62. fooiean SH I a T a9 (A) T8

9 Tsh AU (R) 3% :
TyneATe fIRREieR

HID

faam= (A) :
afgsaraia

HINEAT= sl TIse

SIEl, < I 9

IS TS & 3.

®ROT (R) : Geiedr=an Rrwrefiqs

gyneafafda M

yiesTdiel STANT T 3ifera
S8

aiel Sl faemr=an Hewia @rell faeie=
Hhdihqd IVl 4rd TIE TR,

e
(A) (A) 9 (R) S ¥ 397 (R) ®
(A) = AT TR A

(B) (A) 9 (R) Sl ¥4 397 (R) ®
(A) T IrT TR0 AR

(C) (A) A 3, W (R) & IA
3T

D) (A) ¥ 3R, g (R) T 39
e
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63. Which is not a standard score ? 63. Wit HIod YuIford gTedTR
(A) T-Score T ?
(B) Percentile Score (A) ‘&' g
(C) Sigma Score (B) YIqdHeh TS
(D) Beta Score (C) T uraie
64. Match List I with List IT and select (D) <1 TR
tlr.le correct a'nswer from the codes 64 T 1T AR I e R SRS
given below : - Co >
il Hq')dl"hll-lfff Hdsl @
List I
, , RICil |
(z) Two groups for comparison . )
(z1)) Degree of relationship between @ aﬁ? W
groups ({i) TEMHA FAHE YA
(iii) Partial Correlation (iii) 39 TeEaY
(iv) More than two groups for (iv) TFYen 3IfeeR et qad
comparison T 10
List II ..
(1) I Feday
(1) Zero order correlation .,
. (2) ‘Tw’ W
(2) F-ratio .
, , (3) ‘I’ W (AHErHq)
(3) t-ratio (uncorrelation)
(4) Eliminating influence (4) = A
(5) Chi-square (5) -
Codes : Hehdieh :
@ @) @) (Go) @ @) @) )
Aa 3 1 @ (5) A 3 O @ (5)
B & 1 @ 4) B & 1 @ 4)
<© 3 1 @ (2) <© 3 1 @ (2)
D B 1 @ (2) D) B) 1) @ (2)
39 [P.T.O.
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65. Sexual students in a physical 65. AR e S —.

education class are having difficulty

B A BSHT Gl drEhe HI0l
reaching the basket with their shots,

even while using a smaller ball. TS ST, BT TATEIeh! R T

Which of the following options is

e faemEr <o faneft Feret
most appropriate for the teacher to

Bt ?

introduce to increase the students

success ?

(A) drEhedter=al Uasi HIA aTH

(A) Allowing students to use a

I LA Q0]
balloon instead of a basketball

(B) Lowering the height of the B) arERTala U=t 39 =

basket- ball ring

EU
(C) Raising the height of the

basketball ring

(C) Ir=hesld o=t S= anefan

(D) Using a bouncy playground

ball (D) HEMER SHGUNT Sl <0l

40



66. The relationship between personal

social skills and physical education

in class is accurately described by :

(A)

Direct instruction

(B)

Personal, social skills learned at

home

©)

After fitness and motor skills are

developed

(D) Concurrently developed with

fitness and motor skills

MAY - 71316/I11—B

66. A AL IR f¥reror 9 Srfres-

MRS hReamee gaur foaag®
U H A

(A) gAY ST

NN

(B) =0 fRrehaiet
I

Safeaes, QTHTSIH

o

(C) ggedl 9 &R hIved fasfyq

EISRIEH

(D) g3&dl d HRE HIed TUaT

T Tt

o~ N

67. The following parts comes under | 67. WA HIST=AT TTHISATI qErA
general lesson plan : RiEE
(1) Formal part (1) Sfio=nis 9
(2) Individual feedback (2) SRR FeATHRO
(3) Recreational part (3) HARSHMNN |
(4) Teaching technique (4) IATF T
Select the correct option : g g9t feer
(A) (1) and (2) are correct (A) (1) @for (2) SRR
(B) (2) and (3) are correct (B) (2) 37fU1 (3) SRR
(C) (3) and (4) are correct (C) (3) 37T (4) SR
(D) (1) and (3) are correct (D) (1) 37T (3) SRR
41 [P.T.O.
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68. Match List I with List IT and select | 68. 4t I & 3T II Je3aA ara vt et
the correct answer from the codes 2l gq?,qiq',mef[ faer
given below : a1

List I
' (i) TUAeer Hi
(z) Penalty corner
(i) Ul e
(z1)) Penalty spot
(i) Ta=’
(111) Libero
(lv) Tk TARA
(fv) Baulk line
et 11
List II
(1) <Bleitsifel
(1) Volleyball
(2) Hage!
(2) Kabaddi
(3) Football ) %
(4) Hockey (4) wH
Codes : Fehdten :
G G G Gv) @ @) @i (o)
A 2 3 @ @ A 2 6 @ @
B 1 @ B (4) B 1 @ O 4)
< @ 1 G (2) ©c @ 1 3 (2)
D 3 @ @ (2) D B @ (@ (2)
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69. Given below one Assertion (A) and | g9, fecican S IR Tk a8 (A) 3T
R R) :
a Reason ( 3 (R) 3 :
Assertion (A) : Leg dynamo-
faam™ (A) : o SEEEIfEEET 9w
meter is used to
SICAT=T dlehard  HIIA
measure ankle S
power HLOIES Bl
Reason (R) : Dynamometer FHROT (R) : SHETHIHCE dehe Aeal
measures TN
strength.
T Tl fasmr=n Teyia el feeied
In the context of the above two
Ce . - : .
statements, which one of the Heheisnldd Tl =re e
following code is correct ? Hehdih :
Codes :
(A) T=1 (A) 9 (R) ¥ 3%
(A) Both (A) and (R) are true
(B) T (A) 9 (R) 319™ T}
(B) Both (A) and (R) are false
(C) B (A) 99 3] 9 (R) 3I9A
(C) Only (A) is true and (R) is
false e
(D) Only (A) is false and (R) is (D) B (A) 3ET 3 9 (R) 9A
true e
43 [P.T.O.
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70. While throwing a Discus, the

70. Tl ®HHRAMT WeoTeg, esier e

thrower snaps the wrist sharply at
the end to spin the Discus. This spin
helps the Discus to increase distance

and accuracy in throw because :

(A) The spinning Discus creates

turbulence which provides lift

(B) The spinning Discus acts as a

gyroscope which increases its

stability

(C) The surface of the Discus
produces more friction to give

it more lift

(D) The kinetic energy of spinning

Discus imparts more horizontal

propulsion

LTS, TSl HASA SN SeehT 2l

o1 TRehTHe oTedl Hheanldiel STaX o STehl

AT .

(A) gredr= e Wedae e df

T IFAAT ST

(B) iRt =@ SO oTedl TEeehia-

THM 1A oid Rl drefad

(C) oTedran Y3 31f¥eh wrsior fmfoy

FA S df SR IFA! ST

(D) et sSvar ar@i|es fAAfu

BIOTR TTfst 3s1 fael YIss |’

Je ghald
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71. The contents of training in | 71 quf=n Senadd TRTeOT=T ST9™ &
preparatory period should be of :
SIESI 1
(A) Low intensity and low volume
of load . R .
(A) YR RHAT diFdl 9 shHT JHIO
(B) Low intensity and high volume
of load (B) ¥R AT digdr 9 =9 YHI0
(C) High intensity and low volume
of load (C) 9Nr= S=d dioidl o HHl YHI
(D) High intensity and high volume
(D) YRT=l S=9 digdl 9 ST GH
of load
, , 72. UISERYYHETE HITAT HISETEHE
72. In which type of the following sports - .
Hated hIAAM WU IRl At
there are more possibilities of Ty ?
achieving highest performance (A) ST HISHS dherdl J9E Afeeh
before puberty ?
(B) SI1 HieHEd THSRYUET T4
(A) Strength dominated sports N
(B) Endurance dominated sports (C) a1 HISHE oAM= & AfYeh
Tl
(C) Speed dominated sports .
(D) 1 HISHE TAT YA ST(eh
(D) Technique dominated sports Tl
45 [P.T.O.



73.

74.

75.

From the training point of
view, which of the following is most

important ?

(A) Loading

(B) Recovery

(C) Fatigue

(D) Compensation

Cognitive process consists of :
(1) Sensation

(2) Thinking

(3) Perception

(4) Problem Solving

Identify the sequence :

@ GO 6 @ @
B2 @ @O B
< @ 1 3 (2)
M3 @ @ @

Which of the following activities are

considered an open skill ?

(A) Bowling

(B) Putting a Golf ball

(C) Batting in a cricket game
(D) Shooting a basketball free

throw

73.

74.

75.

MAY - 71316/I11—B

TIT&T=A g @eficdeh! e
Hafd Hewe 3 ?

(A) YR =refao
(B) g
(C) ok
(D) XITE

qeTeHs IfHEIARET  ITAT GHIA YT

Bl

(1) G

(2) fo=mr

(3) 3Teey

(4) HAE TR

%A fafved & .

a o 6 2 @
B 2 @ @O 6
C @ o & @
O 3 @ @ @

TTeTedehl IV od o hieTedT
SR S ?

(A) e

(B) T i 92 hI0

(C) fomehewed fdm

(D) drEheaieded Wl 9l
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ROUGH WORK
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ROUGH WORK
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